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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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If three groups could be formed using the given figures only once, these groups would be
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If three groups could be formed using the given figures only once, these groups would be
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Sales of Bikes in India as per the Colourin
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Sales of Bikes in India as per the Colourin
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If the total number of bikes sold in 2009 was 6000,
then according to the given data, bikes of which
colours were sold equally?
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Use each of the following figures only once to form three groups. The three groups thus

formed are:
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The pie chart represents the annual yield in tons of a certain place. If the yield of sugar is
6000 tons then the yield of wheat will be tons.
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The mirror image of the above figure is

as x, IHBTQARRE
v, HOTOALRS
=, IHE1QA4RB
< IHIrOAMARSB

Q.40



Ans

Q.41

Ans

Q.42

Ans



Q.43

Ans

Q.44

Ans

Q.45

Ans



Q.46

Ans

Q.47

Ans



Q.48

Ans

Q.49

Ans



Q.50

Ans

Q.51

Ans

Q.52



v gfoeaf@ 3 s Hamm s g g eaf HrafF a2 ms g arda
TR T8 g8 e &2

An echo is returned in 3 s. What is the distance of the reflecting surface from the source,
considering the speed of sound as 342 ms™!?
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The sum of the lengths of the edges of a cube is equal to the perimeter of a square. If the
numerical value of the volume of the cube is equal to the numerical value of the area of

the square, then the length of one side of the square is:
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The bar graph represents the favorite fruits of Grade 4 students.
What 1s the total number of students in the class?
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